
8000007454

NOTES:

INITIAL RELEASEA

REVISIONS
DESCRIPTIONECNREV.

   2. CUSTOMER ASSEMBLY SHEETS2-4.

MSM

   1. BAND ANGLES AND PIPE AS NEEDED FOR SHIPPING.

BY DATE
03/23/15

  

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 RFMW8HK HARDWARE KIT FOR RF-MW8-B 1 220.83 LBS
2 MTC330401 Side Angle 4 33.71 LBS
3 MTC330402 Sled Side Angle 4 27.09 LBS
4 MTC330407 SIDE ANGLE 2 16.91 LBS
5 MTC330408 8' Mast Weldment 3 139.77 LBS
6 MT-547-120 3.5" O.D. X 120" PIPE 1 75.36 LBS

SHIPPING BOM

MSM
PART NUMBER:

U.S.A.

03/23/15

A

B

C

D

A

B

C

D

8 7 6 5 4 3 2 1

8 7 6 5 4 3

SHEET:

RF-MW8-B

R

DESCRIPTION:

1

ROOFTOP BALLAST MOUNT FOR MW
Andrew Corporation.

2

±2°
±1/32

A
.06
.03

DO NOT SCALE THIS PRINT

TOLERANCES UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES U.O.S.

REMOVE BURRS AND BREAK EDGES .005

.XX = ±

.XXX= ±

.X  = ± .12
FRACTIONS 

996.19 LBS

ANGLES 

CHECKED BY:

REVISION:

DATE:

GALV A123
FINISH:

TP NTS

A36,A529,A500

WEIGHT

SCALE:

ASSEMBLY DRAWING
DRAWING TYPE:MATERIAL:

DRAWN BY:

1 of 4
These drawings and specifications are the proprietary 
property of ANDREW CORPORATION and may be used 
only for the specific purpose authorized in writing by 

WESTCHESTER, IL. 60154



10

SCALE 1 : 10
DETAIL C 

11

12

17

.06
03/23/15

R

MSM

  

A

B

C

D

A

B

C

D

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2

DATE:

Roof Top Ballast Tray, 6' Dish

   1. ALL METRIC DIMENSIONS ARE IN BRACKETS.
NOTES:

purpose authorized in writing by CommScope Inc.

±2°

A
1

±1/32

NTS

.03

DO NOT SCALE THIS PRINT

TOLERANCES UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES U.O.S.

REMOVE BURRS AND BREAK EDGES .005

.XX = ±

.XXX= ±

.X  = ± ANGLES 

CHECKED BY:

956.04 LBS

REVISION:

DRAWN BY:

TP
SCALE:

GALV A123
FINISH:

WEIGHT

PART NUMBER:

A36, A529, A53
MATERIAL:

.12 ASSEMBLY DRAWING
DRAWING TYPE:

DESCRIPTION:

U.S.A.

2 of 4
SHEET:

RF-MW8-B

FRACTIONS 

These drawings and specifications are the proprietary property
 of CommScope Inc. and may be used only for the specific 

WESTCHESTER, IL. 60154

6

SCALE 1 : 10
DETAIL B 

16

7

5

A

17

1

3

2

7

14

B

13

13

C

4

SCALE 1 : 10
DETAIL A 

913

2

2

15

1

14

ITEM PART NO. DESCRIPTION QTY. WEIGHT
1 MTC330401 Side Angle 4 33.71 LBS
2 MTC330402 Sled Side Angle 4 27.09 LBS
3 MTC330403 Angle Bracket MTC3304 5 1.92 LBS
4 MTC330404 Mast Mount Plate 3 33.67 LBS
5 MTC330405 LARGE CLAMP HALF 1 12.66 LBS
6 MTC330406 SMALL CLAMP HALF 1 8.67 LBS
7 MTC330407 SIDE ANGLE 2 16.91 LBS
8 MTC330408 8' Mast Weldment 3 139.77 LBS
9 MT-388 SQUARE WASHER, 1-1/2" X 1-1/2" W/ 9/16" HOLE 42 0.11 LBS
10 XP3040.01 CROSSOVER PLATE 3.5" O.D. TO 4.5" O.D. 2 11.01 LBS
11 GUB-4355 1/2" X 3-5/8" X 5" GALV U-BOLT 4 0.71 LBS
12 GUB-5456 5/8" X 4-5/8" X 6½" GALV U-BOLT 4 1.43 LBS
13 GB-04205 1/2" X 2" GALV BOLT KIT 37 0.16 LBS
14 GWF-04 1/2" GALV FLAT WASHER 26 0.03 LBS
15 GB-05205 5/8" X 2" GALV BOLT KIT 12 0.27 LBS
16 GB-05245 5/8" X 2-1/2" GALV BOLT KIT 4 0.31 LBS
17 MT-547-120 3.5" O.D. X 120" PIPE 1 75.36 LBS



U.S.A.

03/23/15

R

MSM

  

A

B

C

D

A

B

C

D

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2

RF-MW8-B
Roof Top Ballast Tray, 6' Dish

   1. ALL METRIC DIMENSIONS ARE IN BRACKETS.
NOTES:

PART NUMBER:

Andrew Corporation.

±2°

1

±1/32

A

.12

.03

DO NOT SCALE THIS PRINT

TOLERANCES UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES U.O.S.

REMOVE BURRS AND BREAK EDGES .005

.XX = ±

.XXX= ±

.X  = ± ANGLES 
.06

956.04 LBS

REVISION:
FRACTIONS 

TP
CHECKED BY:

GALV A123
FINISH:

WEIGHT

DATE:

A36, A529, A53
MATERIAL:

NTS

ASSEMBLY DRAWING
DRAWING TYPE:

DESCRIPTION:SCALE:

3 of 4
SHEET:DRAWN BY:These drawings and specifications are the proprietary 

property of ANDREW CORPORATION and may be used 
only for the specific purpose authorized in writing by 

WESTCHESTER, IL. 60154

TYP

304810'-0"

16.0 406.4

4.5 114.3

7'-3" 2209.8
7'-3" 2209.8

99.2 2519.4



5'-0" 1524.3

BALLAST SUPPLIED 
BY CUSTOMER

ANTENNA SUPPLIED 
BY CUSTOMER

03/23/15
NOTES:
   1. ALL METRIC DIMENSIONS ARE IN BRACKETS.
  

A

B

C

D

A

B

C

D

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

Roof Top Ballast Tray, 6' Dish

These drawings and specifications are the proprietary 
property of ANDREW CORPORATION and may be used 
only for the specific purpose authorized in writing by 

Andrew Corporation.

±2°
±1/32

A

.12

.06

.03

DO NOT SCALE THIS PRINT

TOLERANCES UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES U.O.S.

REMOVE BURRS AND BREAK EDGES .005

.XX = ±

.XXX= ±

.X  = ± ANGLES 
FRACTIONS 

956.04 LBS

REVISION:

CHECKED BY:

TP
DATE:

GALV A123
FINISH:

WEIGHT

NTS

A36, A529, A53
MATERIAL:

SCALE:

ASSEMBLY DRAWING
DRAWING TYPE:

DESCRIPTION:

DRAWN BY:

4 of 4
SHEET: PART NUMBER: RF-MW8-BMSM

R
U.S.A.
WESTCHESTER, IL. 60154


